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(\}fc\mfor Sepring 2ol2

(13 pts) In 1990, the U.S. minimum wage was $3.80 per hour. In 1997, it was $5.15 per hour.
Assume the minimum wage grows according to an exponential model W (t), where t represents the
number of years after 1990.

a) (6 pts) Find a formula for W (t).
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b) (2 pts) What does the model predict for the current minimum wage? (year 2012)
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c) (5 pts) In what year is the minimum wage expected to reach $100 per hour, according to this model?
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Problem 3 (12 points)

The population of Arcadia increases by 8% every 10 years. The population of Brom triples every 120 years.
The two cities had equal populations of 10,000 residents each in the year 2000.

In what year will the city of Brom have twice as many residents as the city of Arcadia?
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